2 (200) XH2&2 X =
&t (230) R KA S
Ng: (234) =2 cheliAal)
i) S S| e =
2, 8. Mg, NI = 01l Ao Of Ao Hnsz
200 X=X = 10,730,741|  10,907,858| 177,117
230 KRENMFS 7,316,370|  8,064,460| 748,090
234 =2 7,316,370|  8,064,460| 748,090
401 Al&HI LS04 7,316,370|  8,064,460| 748,090
401-01 (Al&HI) 7,290,000/  8,020,000| 730,000
[THIEXAIZ]
O "HIHeEF =& 2422 FH|
100,000,000& X 14 100,000
[ bl 30,000
Al bl 70,000
[XEAIAFS]
O otE=% JIH=H(3MXF) 240,000
- B3lHelEF 5,000,000& X 163l 80,000
- NS HeEFR 5,000,000& X 163l 80,000
- X&HeEF 5,000,000& X 163l 80,000
O o= =4& Hel 50,000,000& X 13l 50,000
O ot 2= E2=(3MXF) 300,000
- B3lHelEF 5,000,000& X 203 100,000
- NS HeEFR 5,000,000& X 203 100,000
- X&HeEF 5,000,000& X 203 100,000
O sAXeSR(HE) ot=22 HH| 1,500,000,000& X 14 1,500,000
O g MEe| st=22 | 1,000,000,000& X 14 1,000,000
O SLAIHE =H L5 242Z FH| 200,000,000& X 14 200,000
O XNEHelEF =& 2422 FH| 800,000,000& X 14! 800,000
O usxelEa+ t==&H 28X+ Jb| 200,000,000& X 14 200,000
O OIZXelEF ==& 28X+ bl 200,000,000& X 14 200,000




0o e

=

b (230) RS RH
NIE: (234) =2 )
i) S S| das =
2 8. Mg =, A= 01l Ao Of Ao Hnsz
O Ny OI25t4HMel Y tia4Ad] @& X7 &Hl 200,000,0008 X 14 200,000
O 2dot=Hel& AegS 2= 900,000,000 X 1Al 900,000
O SAZSMAUDIHMeAE AFUXAL o 500,000,000 X 1Al 500,000
O otXMel®d & SHEOEY 24 40,000,0008 X 54l 200,000
O OlE EA ARDSILEHEAIE SEAIY MALHESA
100,000,000 X 14l 100,000
O 2aItA iz 2 200,000,000 X 1Al 200,000
O ALY dt22 014 25,000,0008 X 4X 3 100,000
O ESIEOIZ BOXAE Xl ZAt 500,000,000 X 14l 500,000
401-03 (Al =2CHHI) 26,370 44,460 18,090
O sAHeURR(HS) ot=22 FHH|
1,500,000,0002 X 0.36/100 5,400
O Bl 5 22 FH|
100,000,000 X 0.90/100 900
O S2UAMIHE FH 5 2422 FHH|
200,000,0002 X 0.72/100 1,440
O XNHHele? &5 2222 FH|
800,000,000& X 0.63/100 5,040
O DEHel2F tid&H 2EXF &2
200,000,0002 X 0.72/100 1,440
O OlZXel27 Bi&&d 2V XIF &
200,000,0002 X 0.72/100 1,440
O MY OiSstEHel =Y ti44H 2EXF &
200,000,0002 X 0.72/100 1,440




B8 HE = 04l Ao ?f':ﬁgj JmE=Er
O LHLHE NEZ B
900,000,0008 X 0.63/100 5,670
O SASMYIHANE AHSTAL S4
500,000,0008 X 0.72/100 3,600
800 oiglbl 3,414,371 2,843,398
800 oiglbl 3,414,371 2,843,398
801 aiglbl 3,414,371 2,843,398
O B4 Xr=0ia o8yl
3,414,371,000% 3,414,371
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